Student Exam Nos-_

GANPAT UNIVERSITY
B.TECH SEM-IV ELECTRICAL ENGINEERING
REGULAR EXAMINATION MAY-JUNE-2014

2EE404:-COMPUTER ORIENTED NUMERICAL METHODS
Time: 3 Hours

Total Marks:-70

Instructions: - 1. Attempt all questions.
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2. Make suitable assumptions wherever necessary.
3. Figures to the right indicate full marks.

SECTION-I
’ )
Certain corresponding values of X & logyox are given belo
x: 300 304 305 307
logox: | 2.4771 | 2.4829 | 2.4843 | 2.4871

The result of measurement of slectric resistance R

temperatures is listed below

Using the method of least square, find the's

Find the value of cos (1.74) using th

Find log,,310 by Newton’s Divided Difference.

copper wire at various

t:

19

55 11 34

h40 ’45

50

R:

76

i

£

83

35

slow:
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sin x:
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SECTION-1I
Q:4 (A) Solve the following equations using Relaxation Method: 6)
10x-2y-22=6; -x+10y-2z=7; -x-y+10z=8

(B) Compute the first iteration for Laplace Equation uy, + uyy, =0 for the following (6)
square mesh with boundary values shown in figure.
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o By 1&1&
Qz‘? (A) Use the modified fuler s ;neﬂmd.té jobtal.n ) given that % = —2ty?, FY ®=1, (6)

. Take h=0.1.
{(B) Solve the Poisson equation’ u, +

v Dl 0<y<1 glven that (6)
u(0,y) =0, u(x,0) =0, u(L,y) = 100, u NG :

100 and h=1/3.
Q:5 (A) Solve the following syste oy Jacobi’s method up to three decimal places,  (6)
. 2X1+X2+6X3=9 ’
8X1 =k 3X2 4 2X3 =

X1 + 5X2 +,X3 =

(B) Use Secant method

fx log 10 x = 1.9 correct to 3 decimal places. 5)

OR
Q:5 (A) Solve the followi y Gauss-Seidal method. (6)
8x+2y~2z=
X — 8y+* =
2x eyt O
(B) Find a real root cos X — 3 x + 5 =0, correct to four decimal places using the (5)

Successive Apprg;imation method.

Qi (12)
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